. _20) |
R 2 Exercises (pages 17-2 |
1. (@) B,C,D,F () A,B,C, D, F () D,F ‘

E 3. false; Some are l
¢, D,F (¢ EF ) D, e |
O e ¢ integers are not. 5. false; No {

7. true 9. tue 1L 1,3 1‘

jrrational number is an integer. \/_ \/_
V3,27, V12
~3. —6, — 2 (or —3),0,1,3 15.

7. —16 19. 16 21.—243 23. ~1662 25. —6
. z —8 135 28
7. —60 29, —12 3L —5% 3377 35

whole numbers, but negativ

1

#

b

37. -1 39.-Z 41.-% 43. -1 45 -1
47. 6 49, distributive 51. inverse 53. identity

55. commutative 57. associative 59. closure

63.20z 65.m+11 67 2y+3%z—3

69. (8—14)p=—6p 7L —4z+4y 73. 1700

75. 150 177. false; {6 — 8| =[8| —|6] 79. true

81. false; ja—b|=|b|—|a| 83.10 85 —% 87.-38
89.9 91.16 93.20 95. -1 97. -5 99. Property 2
101, Property 3 103, Property 1 105. 3 107. 9

109. x and y have the same sign. 111. x and y have
different signs. 113. x and y have the same sign.

115, 17; This represents the number of strokes between
their scores. 117. 0.031 119, 0.024; 0.023; Increased

weight results in lower BACs. 121, 111.0 123. 101.2
125. 97.0 127. 936 129. 92.0 131. 910 133 1211

ety




